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Philosophy

Paper 1II

NI
gyAutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U 3TRd. W YEA dredl

GO : I YIAARhd THY 9IS (100) sguEE 799 foel 3fed. Toish Teen g (2)

Which of the following is not what
Quine criticizes as “two dogmas of
Empiricism” ?

(A) The distinction between
analytic and synthetic
propositions

(B) Phenomenalism
(C) The

meaningful statements to the

reducibility of each

set of immediate experiences

(D) Totality of our so called beliefs
is man-made

The objective of total revolution is :

(A) to change government, but not
society and the individual

(B) not only to change government,
but also society and the
individual

(C) not to change government, but
society and the individual

(D) to change government and
society, but not the individual

1.

iUkl hETal FHER FoEA 2Ieh!
Hoed  TIFERET oF aw@ T ame

e ?
(A) Tagciues 9 Hycives faummee wie
(B) HEEEEAEG

(C) woeh ALY T T ST
Teme faaeq Al amar

(D) 2A9edT 9d qemeR g SmuT=l Madl-

IS A HT 379

o

[d N
HAend shldld Sigbe ¢

(A) THR IS0, JU1 AT o KT el

(B) hdes TR dgeTUl ATel, aX TS

o ~
qd HKdal dgel ¥SdU]

(C) TXHR IEAU ATRl, T FHS o ekl
Td 95 TSIl

(D) &R 9 9 Id Iiiady s,
L el

[P.T.O.



Swadeshi was :

(A) not just an economic doctrine,
but covered all aspects of
human life

(B) just an economic doctrine and
did not cover all aspects of
human life

(C) not an economic doctrine, but
covered all aspects of human life

(D) neither an economic doctrine
and nor did it cover all aspects
of human life

Constitutional morality :

(A) cannot be reduced to pure
normativity or pure legal form

(B) cannot be reduced to pure
normativity and pure legal form

(C) can be reduced to pure
normativity but not to pure
legal form

(D) cannot be reduced to pure
normativity but to pure legal
form

Freedom to practice religion is

..................... right in India.

(A) a fundamental right

(B) a cultural right

(C) a political right

(D) an informal right

In the Indian Constitution, the right

to property is not :

(A) a fundamental right

(B) a legal right

(C) a moral right

(D) an individual right

Affirmative action aims at :

(A) social justice

(B) political justice

(C) individual justice

(D) global justice
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el ®

(A) e 3nfYer axd e, W Al
Sterr= §e Yo WMEd B

(B) “helos 3If¥ieh ad 3118, HIell S{erre
TR Yol e GeY AR

(C) 3TIfefer ol A&, T A /el Siiar=a
Td e eI ST

(D) 3Mfefeh Trerel el o /el Strarea
Td Yo AHEURE A

faWa

qoEeAcHe:  HIfdadd

(A) JCY AR a1 JeMfh EU1q
foreras ial ad el

(B) &Y STCYEH o JRY Ak &I
foem e @ T

(C) TCY ISR &M faerad sl
AT TU JRY TR FU@ AR

(D) YRH e ®U1q oo s
Iq AR U0 YR AR U
L Ad

YR ToTeead Uil 9 &
T ?

(A) JAYd &K

(B) dunfieh ek

(C) Afawr TFh

(D) JAfFTs BTFh

ThIIHS  halel 39T I 3Tl ?
(A) TS =

(B) US&hia =™

(C) afedsr =

(D) afsw =




10.

According to Kautilya, in the process
of selecting a new king :

(A) A state must have a king even
if deserving candidate is not
available

(B) A person from the relations of
the previous king must be
selected

(C) It is better to keep a state
without a king instead of
selecting an undeserving

person
(D)

The eldest prince of the previous
king must be selected

According to Kautilya, what brings
glory to king and the citizens ?

(A) Beauty of the land

(B) Magnitude of the army
(C) Good governance

(D) Enormous wealth

In the context of foreign policy,
according to Kautilya, the following
principle should be followed by a
king :

(A) King must always remain
aggressive
(B) King can enter into war with

any enemy

(C) King should not enter into war

with more powerful enemy

(D) King must always think of
treaty to avoid any war

situation

10.
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Fifecr= FAMER Fa= e fae

Hieha=a dedl :

(A) S A% IHSAR U THAT a4
TSIl ST AT TSt

(B) Y= TSr=Al AT ek
EESIERRKINE]
T

(C) HSTATR! AT IHSARTHI
HITOITULT TS qSTfarfed Ufgetal

BN

~ c ~ [a¥
(D) GET=a1 TST=A1 Had <3 TSTeRHr=
BEERCILEIRECIC]

o~

FHifeear=al HATaR, EIciish! SHeHes TS
g AARE A dWE W B 2

(A) g gied
(B) ¥=m=t woFa

(C) guRmHET
(D) 3THTY HOIT

FHifeaT=AT FATTER TS TR RO

TeHld Jeid dwarn faee hIel

TS Y 3RS &

TSI FHBATR RN I8 F& ekl

(A)

(B)

(C) TN Tqeade dHede™ IeEh

FHHl IgY HE T
e Tr@varael TS HeHt

SRS T

(D)

[P.T.O.



11.

12.

13.

What is the golden rule about
foreign policy according to
Kautilya ?

(A) Enemy of enemy is one’s friend
(B) Enemy of friend is one’s enemy
(C) Friend of enemy is one’s enemy
(D) Friend of friend is one’s friend

Which one of the following
statements is not true of patriarchy ?

(A) Patriarchy is caused by the
biological inequalities between
women and men

(B) Male control over women’s
sexuality and reproductive
functions is a fundamental

cause and result of patriarchy

(C) Patriarchy causes oppression as
a result of alienating women

from their bodies

(D) Patriarchy is essential condition
for women to demand their

rights as equal citizens

Who among the following political
thinkers defends the Aristotelian
ideal of intimate, reciprocating focal
community bound by shared ends,
where people simply assume and
fulfill socially given roles ?

(A) Alasdair Macintyre
(B) Charles Taylor
(C) John Rawls

(D) Isaiah Berlin

11.

12.

13.
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fom sgpgen ?

(A) o= T @A T

(B) fAsm=n ¥ 1 eden

(C) wop=n A« sfoen ¥

(D) faom=n fast a1 efven o

EeHedesh! FIvd faem frgammerug e -

oed @R A ?

(A) T 3 gew Fr=mHa Sfaw
ST TIqEReR UG SRRl B

(B) &9 Si=A wifiehden fafa &
IThd el 9 TIqaehag e § S
FA B RV 9 TR AR

(C) T = IR STes shedl-
o TUqaaehug et o= 2o hid

(D) T @ wH A g fHafomamssia
TR UG & STavdeh 31 3T

fSTegTesaT™l, TXEIIqLeh Hae SO0
AR 3gfase AN ST, HHSMH
feate fien wiisRe & fvmee
ST, TRM SfREieamfon stewie wHefq
HI0fl w2

(A) ATHSER Hih=RR
(B) =med R
(C) S Tew
(D) =& e




14.

15.

According to Marx the origin of
alienation is commodity fetishism.
Which of the following is not a part
of Marx’s explanation of alienation ?

(A) Inanimate things (commodities)
have human powers (i.e. value)

(B) Inanimate things (commodities)
are able to govern the activity

of human beings

(C) Social relationships involved in
production are not relationships
among people, but only

economic relationships

(D) Inanimate things (commodities)
are incapable of governing the

activity of human beings
Which one of the following is not
true of normative claims that are
the
framework proposed by Amartya

entailed in theoretical

Sen’s capability approach ?

(A) The freedom to achieve well-
being is of primary moral
importance

(B) Freedom to achieve well-being
is to be understood in terms of
people’s capabilities

(C) People’s capabilities mean their
real opportunities to do and be

what they have reason to value

(D) The freedom to sell one’s
produce at a desired price in the

free market

14.

15.
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(A) T75TTa a=gmes Aet 9w (oSt
qed) 3Hd
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ATV TG hde A
oY ST

(D) fsta &g wagsawvar=a fwan fafa
FHIOAY TGRS

3T YU eTHaTtafted gitesh e

HRHifeh Theid shed ST STeviaa!

TTATh! eIkl IVl () BRI
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(A) SV T HEed He @A
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(B) AUl U hed "N @A
AT

(C) SIS &1 TS <A1 =1
-5 M FEY gred 9 o
el TR

(D) HK SSRUSA TETE 3R 5ol
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16.

17.

18.

The process by which things of the

world, not belonging to anyone,

become appropriate objects, pertains

to which of the following principles

of justice according to Robert

Nozick ?

(A) A principle of justice in
Acquisition

(B) A principle of justice in Transfer

(C) A principle of justice in
rectification

(D) A principle of justice in decision-
making

One of the dominant reasons for

people to enter into social contract
according to Hobbes is :

(A) Self-preservation

(B) Inner sense of justice
(C) Universal love

(D) Love of wisdom

According to socialist feminism
which of the following is the foremost
reason for the subjugation of
women ?

(A) Their financial dependence

upon men

(B) Their biological difference from

men
(©)
(D)

Lack of political representation

Lack of education

16.

17.

18.
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(B) &GO A&~

(C) GURUIA el
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19.

20.

21.

Which of the political thinkers
distinguishes between equality of
opportunity and equality of respect
on two elements in the idea of
equality ?

(A) John Rawls

(B) Karl Marx

(C) Bernard Williams
(D) Charles Taylor

The statement “Female subordination
is rooted in a set of customary and
legal constraints that blocks
women’s entrance to and success in
the so-called public world” belongs
to which of the following feminist
theories ?

(A) Radical feminism
(B) Eco-feminism

(C) Liberal feminism
(D) Socialist feminism

In Plato’s Republic which one of
the following is a reason why
philosophers should rule a city ?

(A)
(B)

They hate poetry

They are mindful of both body
and spirit
©)

They are easily able to convince
others

(D) They love what is rather than

what becomes

19.

20.

21.
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22.

23.

24.

25.

26.

A deductive argument is invalid it
and only if .................. .

(A)

all its premises are true and the
conclusion is false
(B)

all its premises are false and
conclusion is also false

(®)

some of its premises are false
and conclusion also false

(D) all its premises false and

conclusion true

According to quality, propositions
are divided into :

(A) Universal and Particular
(B) Simple and Compound
(C) Affirmative and Negative
(D) Necessary and Probable

Which one of the following is not a
valid mood of first figure of a
syllogism ?

(A) Barbara (B) Celarent
(C) Darii (D) Boroco

The law that states—‘A is either B
or not B’ is :

(A) Law of Excluded Middle
(B) Law of Contradiction
(C) Law of Identity

(D) Law of Nature

opposition is the relation
between two particular propositions,
which have the same subject and the
same predicate but which differ in
quality.

(A) Contrary

(B) Sub-contrary

(C) Contradictory
(D) Subalternation

22.

23.

24.

25.

26.
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27.

28.

29.

“~[(pvqg) .(gvr)o(pvr)” this
propositional form is a ................ .

(A) Tautology
(B) Contradiction
(C) Contingent
(D) Complete

Identify the correct formulation of
the Rule Universal Generalization

(U

A) oy
o (X) (0x)
(where Y denotes “any
arbitrarily selected individual)
(B) ox
n (X)) ox
(where X denotes individual
variable)
©) ox
o (0y)
(where Y denotes “any
arbitrarily selected individual)
D) ox
- X) ¢x
(where X is any individual
variable)

Select the correct symbolization of
the following statement :

“Only policeman and fireman are
indispensable and underpaid.” (Px,
Fx, Ix, Ux)

(A) (X) [(Px.Fx) > (Ix . Ux)]

B) X) [(Px v Fx) o (Ix . Ux)]
(C) 3IX) [(Px.Fx).(Ix.Ux)
D) X) [(Ix . Ux) o (Px v Fx)]

27.

28.

29.
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Y
(A) gda: T
(B) Had: 3THA
(C) Sfafaeraar T

(D) Hyof

Hifeleh AM=IeRLomEn (UT) Famme o1
ERIENRCIEI RS e .

(A oy
o (X)) (0yg)
(Y &1 ' I fHaseel <&t o1
fdfma sz’
(B) ox
o (X)) ox
(X T Afr=r R &)
©) 0x
- (0y)

(Y &1 =1 Fareeiett =af Fefem
L)

D) ox

- X oy

(X © HIVIAE SRR 37T)
eIt faumre e o fae ' o
Wi enfi eFRTHRga™ WEE 7

TR ST STY=AT JaHTER Sh1H HIUR
aad. (Px, Fx, Ix, Ux)

(A) X) [(Px.Fx) > (Ix.Ux)

(B) (X) [(Px v Fx) o (Ix. Ux)]
(C) FX) [(Px.Fx).(Ix . Ux)]
D) X) [dx.Ux) > (Px v Fx)]

11

[P.T.O.



30. Identify the fallacy committed in the

31.

32.

33.

following syllogism :

No men are perfect

All men are animals

-. No animals are perfect.
Fallacy of Illicit Major
Fallacy of Illicit Minor

(C) Fallacy of Negative Premises
(D) Fallacy of Undistributed Middle
Find out the incorrect option :

(A)
(B)

(A) If an Axiomatic system is
constistent it can’t be complete

(B) If an Axiomatic system is

consistent it does not contain ‘p’

and ‘~p’ as its axioms or theorems

(C) An axiomatic system is
consistent iff not every wif is a
theorem of that system

(D) An axiomatic system is
consistent iff every wiff is a
theorem of that system

Who is propounder of the view that

animals do have intrinsic value ?

(A) Peter Singer
(B) Tom Regen
(C) Aldo Leopold
(D) Arne Naess

Community includes both biotic and
abiotic factors. This assertion is
made by :

(A) Land Ethics
(B) Deep Ecology
(C) Shallow Ecology
(D) Medical Ethics

30.

31.

32.

33.
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34.

35.

36.

According to Jodal Radinov :
(A) Life begins with birth

(B) Birth is morally insignificant
phenomenon

Life begins with conception

Conception is morally
insignificant phenomenon

A slippery slope argument about
Abortion states :

(A) Abortion is justified but killing
the child is not

(B) If abortion is justified, killing
the child is also justified

(C) Both abortion and killing the
child are justified

(D) There is no link between the
justifiability of abortion and
that of killing the child

Match the pairs :
Group I

()
(D)

(a)
)
(c)
(d)

Peter Singer
Tom Regen
Aldo Leopold
Arne Naess
Group 1II
Land Ethics
Deep Ecology
(3) Practical Ethics
(4) Animal Rights
Codes :
(@)
A (1)
(B) 4)
©) 3
D) (2)

(1)
(2)

®)
(2)
3)
(4)
3)

(c)
3)
2)
1)
4)

(d)
(4)
(1)
2)
(1)

34.

35.

36.
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(A) VUG FHL 7L, TOT STeTecdn -Tel

(B) SR mfurd gueHg 3, O Sel-
TR a3

T SeTec Sel TR S

U 9 STeTecl ATeAT HRHEI-
TEd FHIAR HE ol el
SISl

e 1
T famr
I\ T
el foeiies
e W=

e 11
qRER it
(2) TEA TATETOHIAT
(3) AR il
(4) 9vIE TR
Hehdich :

(@)

A (D
B) @
) 3
D) @)

€
(D)

(@)
@)
(c)
(d)

(1)

)
(2)
3)
4)
3)

(c)
3)
(2)
(1)
4)

(d)
4)
(1)
(2)
(1)
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317.

38.

39.

40.

Supreme Court India judgment
related to the Adhaar in 24
September 2017 is related to :

(A) Right to Privacy

(B) Right to Technology

(C) Right to Travel

(D) Right to Property

Who is the author of Silent Spring ?
(A) Rachel Carson

(B) Arne Naess

(C) Aldo Leopold

(D) Peter Singer

Which of the following isn’t principle

of media ethics ?

(A) Ensuring the authenticity of the

news
(B) Unbiased attitude
(C) Maintaining privacy
(D) Propaganda

Justice is ............

concept.
(A) Legal

(B) Moral

(C) Psychological

(D) Scientific

37.

38.

39.

40.

JUN - 12219/I1—D

WATA Haled <A STER Haei=n
24 F@sX 2017 =1 i @

(A) TSATIUT=ET 3T
(B) dommn SAfe

(C) Yermdr=n AR

(D) HIeTHET SRR

Hreie FET A1 Yol oheeh v 318 ?
(A) WA A

(B) & 79

(C) 3eel fasidies

(D) fo for

WATAUh! IV qwd HEH e
A ?

(A) T fagemamEa fewan

(B) T&U® gfoa 9ar

(C) TISHIIU  STea ol

(D) T=R

(A) AR
(B) Hfae

(C) HHERTEA
(D) SR

14



41.

42.

Choose the correct order of the
life
pratityasamutpada of Buddhism :

stages of according to

(A) Bhava, Vedana, Jati and
Upadana

(B) Bhava, Jati, Vedana and
Upadana

(C) Vedana, Upadana, Bhava
and Jati

(D) Bhava, Vedana, Upadana and

Jati
Consider the following statements
with reference to the schools of
Vedanta and mark the correct
code :

(1) Shankara accepted Nirguna
brahman and rejected Saguna

brahman

(2) Shankara and Ramanuja
accepted Saguna brahman

(3) Shankara accepted both
Saguna and Nirguna brahman

(4) Shankara and Ramanuja both

rejected Nirguna brahman
Codes :
(A) Only (1) is true
(B) Only (1) and (4) are true
(C) Only (2) and (3) are true
(D) Only (3) and (4) are true

41.

42.

JUN - 12219/I1—D
ST A TETCRTIER. STTaHTeAT ST
I %A el
(A) v@, 351, S A 3URH
(B) wd, WIKil, d& A0 SR
(C) oI, SURH, wel 3T St
(D) Wd, o&1, SURH A St
Yeiel TEMT=n SgTar=1 HeHid el S
RUREGEIEREC i

(1) T o 5@ i o7t
O o AR

(2) TR ST TATSITETE AT |0
ERESIEIN

(3) VRl T ewfor fjur s
TR SRR 3

(4) vTHIEE AT [EAASEE AT
el ffor sRr AR

Hehdieh :

(A) T (1) oTF TR

(B) e (1) 30T (4) T TR

(C) e (2) 3T (3) Mo TR

(D) e (3) MU (4) TeF TR
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43.

44.

“Brahman and the Jiva are different
but they have the potential to be
identical” is the philosophical

perspective of :

(A) Advaita Vedanta

(B) Visishtadvaita Vedanta
(C) Dvaita Vedanta

(D) Jainism

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with respect to
the Yoga and select the correct
code :

Assertion (A) :

Yoga is a theistic system.

Reason (R) :

God is the creator, preserver and

destroyer of the world.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) the

explanation of (A)
(A) is true and (R) is false
(A) is false and (R) is true

(B)

is not correct

(®)
(D)

43.

44.

JUN - 12219/I1—D

SR A1 e fa=1 eTed 991 71 gfteeh

(A) 3fgd e
(B) fafirerga ==t
(C) &d &
(D) S T

e STEER (A) 3T SR (R) et

TH faum foet omed. o St faum=

AN SR Hewid THE FEA 3w

AU (A)

AN T IYEER A ST

uT (R) ¢

9o & e i, uRoeRat smfon

farreTRal T,

i

(A) (A) =701 (R) Traiel e 3TTed ST
(R) & (A) ¥ a4 TEIHI 3T

(B) (A) 3Tfur (R) Tr=ral 9 3ATed U1
(R) ® (A) ¥ I TSR0 HTEl

(C) (A) ¥ 3® 907 (R) ® 36 1"
(D) (A) 3FF 3R 907 (R) & 9T 3®
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45.

46.

47.

Select the incorrect statement with
reference to the Vedic sacrifice from
the following :

(A) The sacrifice is enjoined by the
Veda

The Vedic Gods are invoked in
the sacrifice, but they are only
instruments for the proper
completion of the sacrifice

It is not the case that, the result
of the sacrifice is produced by
an inherent potency—the
apurva

Out of the many kinds of
sacrifices enjoined, one among
them has its aims the fulfilment
of the desire of the person
performing the sacrifice

Which one of the following theories
of validity of knowledge is upheld by
Samkhya ?

(A)

(B)

()

(D)

Svatah pramanyavada,
Paratah apramanyavada

(B)

Svatah pramanyavada,
Svatah apramanyavada

()

Paratah pramanyavada,

Paratah apramanyavada
D)

Paratah pramanyavada,
Svatah apramanyavada

‘It is not the case that everything
can be produced by everything
merely by a change of arrangement
of constituting atoms. This means to
say, it is not the case that the effect
is potentially pre-existent in the
cause.” This view is upheld by :
(A) Samkhya-Yoga

(B) Madhyamika Buddhists

(C) Nyaya-Vaiéesika

(D) Mimamsa

45.

46.

47.

JUN - 12219/II—D
geiet T Sfces == Hauid gent
IECIERECEIE
(A) 99 ® oefafed smed

(B) SET™ SodHEd 3TaT8 hidard Ju7
1 Il TSI Ul v
HIgTHA 3:“%“

(C) o &l &, I Thed 3T {HI0T
B

(D) STl Th=AT Aefafed aTuehl

Teh! I SfEse Ixiehcai=a s
Tl T S
JETAT GTHTOIT=A] dTedid At
eIkl hIV ST SRR ?

(A) Ed: JHIIARE, Wd: AUHTIAG

(B) T@d: YHETIAG, T&d: AUTHTTIAG

(C) Wd: JMHIUIAE, Td: TYHTIAS

(D) 9Xq: YA, FWd: STUTHTIICS

‘T R ot AU AT ToA aeed

FYMTe! hTeral AU Al Ad U
FE g 0 Foargel wRoTa ST
WEA 319d.'—8 gfeshA e

(A) FReI-I=
(B) #reAfger g
(C) =AF-AToehT=

(D) =&
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48.

49.

Pramana-Vyavastha doctrine is not
upheld by :

(A) Naiyayikas

(B) Mimamsakas

(C) VaiSesikas

(D) Buddhists

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with reference to
Mimamsa System and select the
correct code.

Assertion (A) :

Vidhi vakya and Nisedha vakya
of the Vedas are injunctions that
give forth the Vedic actions that are
to be followed and those that are to
be avoided respectively.

Reason (R) :

Vidhi and Nisedha are to be
adhered to the
Mimamsakas consider the Veda to

because

be their final authority.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) i the
explanation of (A)
(A) is true and (R) is false
(A) is false and (R) is true

(B)

1S not correct

(®)
(D)

49.
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e SR (A) 0T %R (R) 37ef
T faum fooit omed. Hurar e
TEUld A TH0 HEA AT Tehdish
feret.

AAIAURUT (A) :

fafy s snftr oy a3 ST %A
3 SARYT 3TRd i HIVA AfSh el

FqeAd fhal & ¥ T Fad.

&RUT (R) :

fafyr enfor oy o= 9@ U9 HRO

T qd 95 WHT Afqq e

Hehdich :

(A) (A) 3701 (R) SErel e 3ATed ATl
R) T (A) ¥ I TR0 3R

(B) (A) 37U (R) SaIel e 3ATed ATl
(R) % (A) 3 I TR0 FHd
Bl

(C) (A) T 2T’ 27T (R) 19 378
D) (A) A9F g 37 (R) 9 T8
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50. Match List I with List IT and mark
the correct code :

(@)

®)

(c)

(d)

(1)
(2)
3)
(4)

List 1

We may notice manifold
qualities and characteristics of
a thing, but view them as
unified in the thing. Eg. We say,
“This is a book”, we do not look
at characteristics being different
from it.

We may notice qualities
separately and regard the
unified thing as non-existent.
Eg. Perceiving different
qualities of the book and alone
regarding those as real, apart
from the unified object, i.e. the
book.

Liberation is not a negative
state of cessation of misery.

Liberation is for and by the
individual.

List 1II
Paryaya-naya
Dravya-naya
Mahayana

Hinayana

Codes :

A) @)
B) 3
© 3
D) 2)

(@) b)
2)
2)
(1)

(1)

(c)
3)
1)
2)
3)

(d)
(1)
(4)
(4)
(4)

JUN - 12219/I1—D

50. AT I o701 At 11 Ar=1 Sireal esa
3T STk Hehdien THael :

(@)

®)

(c)

Rl |
STTI0T A 3Tk TOTeH ST ST
edl, TU ITAThS 390 ThaH
U ITedl. STIU WUR ‘¥ Wi
3’ JegT 30T AT A=A S
q&IhTUaT ol WU Wied e
MU IO WA qg ST
3TI0] TehdY ] AT A8t 318
A 30N, Tk fafy= o
0l Mo e TAAIu T

HASTU, Ty I TS TRIehTa

.
qeil FBUS] @Il SAWTE .

o o

(d) T g KA FKIEES hoiall
3T,
Trdr 11
(1) =g =
(2) 5= T4
(3) &M
(4) TEE
Hehdlah :

(@ ®) (@ (@
A @ @ 6 @
B 3 @ @O @
© 3 1O @ @
D 2 O 3 @
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51.

52.

53.

54.

55.

Thales, Anaximander and
Anaximenes are known as :

(A) physikot (B) mystics

(C) myth-makers (D) politicians
The view that human beings were
playthings at the hands of powerful

but morally weak deities was held

by :

(A) Heraclitus (B) Aristotle
(C) Homer (D) Thales

For Plato Mathematics provides :

(A) a bridge from the sensible would
to the intelligible

a discontinuity from the sensible
world to the intelligible

an illusory means from the
sensible world to the intelligible
an obstacle in the sensible world
to the intelligible

According to Aristotle, form is not :
(A) for the sake of matter

(B) immanent in matter

(C) functional in matter

(D) differential in matter
Assertion (A) :

According to Locke, the real essence
of any physical object is not known
to us.

Reason (R) :

The internal constitution of the
object is in reach our experience.
(A) Both (A) and (R) are
individually true

(A) is true but (R) is false
(A) is false but (R) is true
Both (A) and (R)
individually false

(B)

(©)

(D)

(B)
(®)

D) are

51.

52.

53.

54.

55.

JUN -12219/11—D
gog, ’Mifemst g sfAfwm—g =

ed ?

(A) Tris™ (B) TRt

(C) Taasr=® (D) I/ Tk
TV TRUIS! VIfeRTRITel TR Hfdehd: oes

QadreAT BTl Weavit 71 gftehie vt

e ?

(A) felfriem (B) sffteefea

(C) B (D) &eH

R HA, TG & ed 2

(A) Ufga SwTen eTeherae e

(B) Ufsa 571 9 seheta ara < fmfor
E2G]

(C) Ufga STargH STehert e ek
HEA qLerd

(D) Tfsa sma eeves fmm a9
SR (U B

AN (eA= Hd, STHN :

(A) SURHMEG THd!

(B) SURHM &l

(C) 3UEHN HEEIH TEal

(D) IURHEE favewEar THal

IAYNUT (A)

TAfR=AT HATIHTO ifiish Sqe TR WA

YAl J1d 4.

Ul (R) :

ST ST AT ST ST

Iq TR

(A) (A) snfoT (R) SFEI &

(B) (A) ¥4 U (R) 31HA

(C) (A) 31T Ul (R) 9

D) (A) s1for (R) IR 1A
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56. Who claimed that the exclusive | 56. <HaE (0T UM g UM HegwaTd hIH
concern of mathematics is with g 3T Qa1 hIv &l ?
questions of order or measure ? (A) T (B) =iz
(A) Leibniz (B) Kant ©) 2= D) el
(C) Descartes (D) Russell . - e

57. hIcAT Hd ek Hhal AT Sfamidren
57. For Kant, necessity and contingency | SR FAFT o
are categories of : .
. . (A) i (B) T
(A) Relation (B) Quality ‘
L&Y/ JHTUT
(C) Modality (D) Quantity (©) e D) /

58. Which of the following is incorrect 58. s e 2
match ? (A) gda—s9® (Epoche)

(A) Husserl—epoche (B) S®rR—hifsel o7 A (Cogito
(B) Descartes—cogito ergo sum ergo sum)

(C) Spinoza—tabula rasa (C) ﬁmﬁw—i@w 1 (Tabula rasa)
(D) Berkeley—esse est percipi D) Fhad—2Y = THIT (Esse est

59. The causal relation, according to percipi)

Hume, is an : 59, Wnﬁwww% .................. .
(A) Innate idea (A) TR FeTT
(B) Causal idea
(B) RO &heudl
(C) Dissociative idea .
(C) TaHIMcHeh he Tl
(D) Associative idea .

60. According to whom the proposition (D) WS e
‘God exists’ is a quasi-ontological | 60. ‘SR e R’ ® e shrome
proposition : Hd ored-TawTEE e ?

(A) Kant (B) Anselm (A) @i (B) 3/
(C) Descartes (D) Ryle (C) &1 (D) T
21 [P.T.O.



61.

62.

63.

64.

The distinction between Shreyas and

Preyas is maintained in the :

(A) Taittiriya Upanisad

(B) Brhadaranyaka Upanisad

(C) Katha Upanisad

(D) Prasna Upanisad

Adrsta, as agency, is conceived
by :
(A) Naiyyayikas only
(B)

Vaisesikas only

(C) Naiyyayikas as well as
Mimamsakas

(D) Mimamsakas only

‘Death as Moksa’ is uphold by :

(A) Samkhyas (B) Jainas

(C) Bauddhas (D) Carvakas
‘Svadharma’ means :

(A) One’s own duties

(B) Prakrti

(C) Self-knowledge

(D) Self-realization

61.

62.

63.

64.

JUN - 12219/I1—D

99 9 Y99 A 9 IS Al 2
(A) dfedm sufee

(B) IRk IUER
(C) %3 IUfER
D) 99 U

JGRTRS haqun hioff faem ?

(A) Haes ST
(B) Saes a9iftrept
(C) et & HrHieeh!

(D) %de HHRR

‘I U W' S vt ’E AR ?
(A) HEAH

(C) it
wWyH WS
(A) Ta=T s
(B) Wl

(C) ATHAH

(B) SHIT
(D) =mafeRTt

(D) ATCHHATETERY
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65. Which of the following is not given 65. TICACTdshl I Ho1 dfgeh TR
in Vedic tradition ? 2
(A) Pitr-rna (B) Deva-rna (A) T (B) Tl
(C) Manava-rna (D) Rsi-rna (C) Hre (D) -
66. Which of the following is not covered | 66 CHAHT HRE Jewrd FHEM G 2
in yamas ? (A) TMIHE HE T
(A) Don’t drink intoxicants (B) 90 &% &
(B) Don’t steal (C) 391 & T
(C) Don’t harm (D) WeAE HE ED|
(D) Don’t hoard 67. =dienren qeonefasae giehiomd %M
67. (Carvaka views on Purushartha U IgA ?
may be labelled as : (A) AFENTEE e
(A) Psychological Hedonism (B) Afas geER
(B) Ethical Hedonism (C) gemem falienm
(C) Paradox of Hedonism (D) wEfF qEaR
(D) Universal Hedonism 68. TGl I HHTHAER! faaeHr
68. Which of the following is not a task w1 a2
of phenomenological reduction ? (A) TFHTER gfemmrt Y@
(A) To enable the naturalistic point Exul
of view (B) UehoTaTel T SToAT=l Tl
(B) To enable holistic knowledge [REILEETY
claims (C) IR TEAhITET  STHu==
(C) To enable presuppositionless HZICIC NI R LR
claims (D) = ST SR QoA
(D) To enable grounding of entities TR T
23 [P.T.O.



69.

70.

71.

Match List I with List II and select
the correct answer from the codes
given below :

List I
Maitri
Karuna
Mudita
Upeksa

List II
Punya
Sukha
(3) Apunya
(4) Duhkha
Codes :

(@)
(A) (2)
(B) 2
< 2 @O & @
D) B @ @) (@2
Which of the following is the socially
binding principle ?
(A) Dharma (B) Artha
(C) Kama (D) Moksa

According to Ryle a category
mistake is committed when :

(@)
®)
(c)
(d)

(1)
(2)

®)
(4)
(4)

(c)
3)
(1)

(d)
(1
3)

(A) A fact belonging to one category
is presented in the idiom
appropriate to another

(B) A fact belonging to one category
is reduced to the idiom
appropriate to another

(C) A fact belonging to one category
is totally denied
(D)

The relation between the two
categories is wrongly presented

69.

70.

71.
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T 1 2t =i 1T SJesen 3111 et feeies
Hehdishlqd arg 3Iar ferer .

T 1

(@)
®)
(c)
(d)
gt 11
(1)
(2)
(3) AqF
4) T=@
Hehdich :
(a)
(A) (2)
(B) 2)
< 2 @1 8 @
D) 3 @ @O (@

Weedeh! IO Twd AT e
e ?

(A) & (B) 319

(C) =™ (D) &

TS HagHR Jeletueh! haedl TRIeedd
~THIE TSl ?

(A) Tehl YhLd deF
;}%’{?ﬁ SR

(B) T YehTT=AT AL GEAT Fehell
;%w 3TN TG HEAAE foferer shel

(C) TH YA A UM qe :
ARRA ST T

EEll
<h o Ul
Afea
U
qva
qu

)
(4)
(4)

(c)
3)
(1)

(d)
(1)
3)

=T TR
& Fgl el

(D) TH YRR A1 g JgE
e S I S
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72.

73.

74.

75.

Who among the following Utilitarian
philosophers advocated Qualitative
distinctions in Pleasure and Pain ?
(A) J. S. Mill (B) Bentham
(C) Sidgwick (D) Kant

“Eye for an eye” is advocated by
which one of the following theories
of punishment ?

(A) Deterrent theory

(B) Retributive theory
(C) Preventive theory
(D) Reformative theory

‘Ethical sentences are about the
attitudes of the people’—is the stand
point of which one of the following
ethical theories.

(A) Moral Subjectivism

(B) Moral Realism

(C) Universal Prescriptivism

(D) Emotivism

Which one of the following
statements is not true of Altruism ?

(A) In case of “pure” altruism self-
interested motives are entirely
absent

(B) An altruistic and has to be
necessarily self-sacrificing

(C) An act is altruistic in the weak
sense if it is motivated by the
tort that it benefits at least does
not injure anyone

(D) An act is altruistic in the strong
sense if one undertakes it
inspite of the perception that it
involves some loss of one’s well-
being

72.

73.

74.

75.
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WU T SUIFHIATAIGT T
qeg @did Ui 95 Ared ?

(A) 9. TE. fged (B) dem
(C) fafsen (D) HTe

‘S S’ & RreRanr fa= Srordt
JUUR _d 2

TN IGELCIREE R

(B) gfaenemcdss 3o

(C) THaRomeHs: 39U
(D) FURUcHS YU

“Ifqe TR e gfemraifasreh

3Tard’’ 1 qE WeeTdeht shivren Afden
an +

SUTRIA Wigel ST ?

(A) Afqer faoieme/=afafssarg

(B) Sfder drerare

(C) HEfseh ARIER

(D) YEfesRdarR

RIqeh e slTeid Eleteldeh! shIoTd farerm

Ty e ?

(A) TTae WaehrrIEEd e Y et
TOTET YU SAYE ST

(B) TRIYSRI Fil AYRGREII STHT
T9d

(C) SR TEE FHdl enverl 3@, fem
FUMAT S YA F9e, R < el
= e1eff, Wil 3w

(D) S TEET=AT hedTurE Had
IRl STed Adett, alial <f Sl
S IR Fal 3T g A
Ul Ad
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76.

77.

78.

79.

80.

Which of the following is maintained
in traditional ethics ?

(A) All good actions are right but
all right actions are not
necessarily good

(B) All good actions are duties but
all duties are not necessarily
good

(C) All right actions are not duties
and all duties are not right
actions

(D)

Right actions and duties are
incompatible

Teleology and Deontology get
synthesized in :

(A) Rule-ethics
(B) Principle-ethics
(C) Virtue-ethics
(D) Meta-ethics

According to Plato, the existence of
which virtues ensure justice ?

(A) Truth, Knowledge, Beauty
(B) Truth, Goodness, Beauty

(C) Wisdom, Courage, Temperance
(D) Wisdom, Fortitude, Love

Deontological performance of duties
is prescribed by :

(A) Bentham (B) Mill
(C) Kant (D) Hume

Aristotle speaks of Eudaimonism
as :

(A) Benevolence
(B) Magnificience
(C) Excellence
(D) Patience

76.

77.

78.

79.

80.
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ETATAdsht R0l (93f9) TRUTw
Hfaemea TEen ST ?

(A) ol =T el I AT 90 Hel

A FHelt AT STEO ARG TRl

(B) ¥l =Ted Sl heiedehtl STHA T
Td HdThH ANl STl
Bl

(C) gd IrT Fall ey ARG 0T
qd whdouRd g il Aeed

(D) AT Fl d FHaARH RG]

JAISHAe d qoaR! SUial TH-<od

TS 3TeEesdl 7

(A) Trem-faemm
(B) da-ifaqwram
(C) |-
(D) AT

T Fd, IO FeIoT=A Ao
I @A Sl ?

(A) ™, 9, dicd

(B) ¥, Ty, dicd

(C) 9M, &, 5=\

(D) 3M, ferd, I\

‘AR AIIS HaehH | A TRrRan
Hon oot 2

(A) S99 (B) foea
(C) =i (D) =H
iElee=n ‘geHifegm’ ®|Us
(A) =Hegqum

(B) weIan

(C) Halfehted

(D) wif¥reRar
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81. Select the four sanctions of morality | 81. IUcaT IR STUNER d9H Ffqa<d
given by Bentham : Yfqued &ar ?
(A) Physical, Mental, Linguistic, . . -
}f 8 (A) ‘lﬁﬁﬁ?, HHHh, HIb<h, HHISTh
Social
(B) Physical, Social, Political, (B) 9iifaes, wmferss, Tsmenia, enfies
Religious (C) ifasws, AMfEew, Wifter, TS
(C) Physical, Mental, Linguistic,
Political (D) <ifaes, amifees, oiftes, enfies
(D) Physical, Social, Linguistic, | g9. AT T 3 WEHAfadan STe
Religious B FIUTAT T ATy eRd ?
82. The problem of means and ends and
the insistence on the purity of means A4) # . 9g
are the highlights of whose (B) . SOt
hil hy ? . .
philosophy ©) ST
(A) K. C. Bhattacharya
(B) J. Krishnamurti (D) HerH et
(C) M. N. Roy 83. AT WM q :
(D) Mahatma Gandhi
83. Satkhyati is maintained by : (A) ™ aH
(A) Ramanuja and Prabhakara (B) THEIS
(B) Ramanuja ©) 1
(C) Prabhakara
(D) Ramanuja and Kumarila (D) THIIS 9 HARTA
84. According to Iqbal, other minds are | 84. IFaTA=A Hd, THT HIMAGR hHedald 2
known through : (A) FeT
(A) Postulation )
B) 34w«
(B) Intuition (B)
(C) Testimony (C) ST
(D) Sense-perception (D) ga&TIHa
27 [P.T.O.



85.

86.

87.

88.

Which aspect of Dharma
emphasized by Phule ?

(A) Devotion (B) Truth
(C) Goodness (D) Beauty
The Absolute, as conceived by

18

Radhakrishnan is pure consciousness,
pure freedom and :

(A) Infinite

(B) Infinite descriptions
(C) Infinite possibility
(D) End of possibles

Who among the following asserts
“Religion without philosophy runs
into superstition; and philosophy
without religion becomes a dry
atheism”.

(A) Radhakrishnan

(B) Swami Vivekananda

(C) Sri Aurobindo

(D) Tagore

The statement—“Intuition brings to
man those brilliant messages from
the unknown which is the beginning

of his higher knowledge” can be
attributed to :

(A) Radhakrishnan

(B) Sri Aurobindo

(C) Swami Vivekananda
(D) Tagore

85.

86.

87.

88.

JUN - 12219/II—D
AT SHIVTAT SR el A o) feam 2
(A) il (B) 94
(C) o= (D) Hie

THTFHSUHTAT Shaddr= Fehed I ar

e wd, e @ 9

(A) 3Fd

(B) 3Td oM

(C) 3q Rl

(D) IR

‘TRl g SSEHT Sl o
SIS o=l U e Fiiseame ' o1
WAt HhIoTe Hfaaed 3mg 2
(A) THTFH

(B) @t faaehrg

(C) sherfag

(D) MR

R fagm Fvmeed BRsE ?

" 3T I WU SRR e STetdl 3T
TS T <, i A WA T oo
aﬁ’,7

(A) THPH

(B) siterfeg

(C) @t fa

(D) 2MR

CCAE
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89. Who among the following asserts— | 89. ‘‘IUShRUM= Hes HIHAT e HS
“politics have their roots in the SaFd 3Tad’’ ® Wfaued Emefterdeh
spiritual life of man” ? o ?

(A) Mohammad Igbal (A) Hewg T
(B) Mahatma Gandhi (B) were et
(C) Sri Aurobindo (C) siieRfaR

(D) Swami Vivekananda (D) @t faaehrg

90. Absolute for Radhakrishnan has to | 90. TS Ad, Hd@ad .

be : =
. (A) 9ifqergsean |9 3/
(A) Materially real
(B) Of the nature of spirit alone (B) *de3 HAHIH T4
(C) Of the nature of void (C) YHEETH 39
(D) Of the .ntature of both material (D) sifas 8T YqorEaETE S
and spirit

91. According to Jiddu Krishnamurti | 91. 5§ FOMAA WA, WA ®WON
freedom is : (A) e fooen goa wfaarg
(A) Free response to nature L. .
(B) Exercising choice without any (B) IOl JATEIET oS ST

preconceptions (C) fras fade
(C) Pure observation N — .
_ o _ (D) SdEaEaT &hde ‘W' w@aAq
(D) Knowing self in isolation from STy
relation

92. Sartre’s humanism orients itself | 92. ¥ = AHdERE W@d: o XS feeen
towards : R 5 9
(A) an open future of collective

responsibility (A) gifesh ITEIEN o wfasg
(B) an ope_n.future of solitary (B) St TeReTiaeT SERgR
responsibility
(C) an open future of ecological (C) Ygfeufasaess ITRET I Hd
responsibility ayfersy
(D) an open future of scientific .
responsibility (D) ST, ST Hokd e
29 [P.T.O.



93.

94.

95.

96.

According to Heidegger, the proper
response to technology is to :

(A) understand it within Being

(Sein)
(B) abandon it within Being (Sein)
(®);

(D)

accelerate it within Being (Sein)

manipulate it within Being
(Sein)

According to Nietzsche, the

assumption of identity underlying

logic is :

(A) culturally fulfilled

(B) rationally fulfilled

(©)

(D)

For

is :

(A) a
responsibility

spiritually fulfilled
fictitiously fulfilled

Levinas, the face of the other

moral summon for

(B)

an epistemological summon for
science

(®)

an aesthetic summon for
pleasure

(D) an intellectual summon for

reason

James attempted to replace ‘the
truth’ with a diversified plurality
of :

(A) appearances (B) truths

(C) percepts (D) concepts

93.

94.

95.

96.
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o

feetean arg

BRSTAT HATJER T

(A) fEfcar=T Tk v WA =
ST HEA Bl

(B) AT <= <M ol
(C) 3Tfiacrd el Tl <0
(D) 3TicaTd <Tell AFI90l BTaTeol

(d o NN
= AAHR T e daad=A/
dreTeRT=a1 TRIdehTel Yedr

(A) GiEhfaemgs B
(B) sifgehgs=n &

(C) smemTforshgseal B

(D) @EHIYUH Bl

AfTE= AagER ‘W A wRd W e

(A) ST IcareEe=n Afds e A

(B) foumEet JemSiE TRy AR

(C) FUEE HedRmed TRe 378

(D) deRiEral Slifgeh TR TR

ST T Heheud fowem e qeerient
FHIMAT AfTEATT 3R el 2
(B) ¥

(D) Heheq T

(A) v™H
(C) sfsa woeA
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97. According to Ryle, Cartesian theory | 97 wE@=n wa SHE= w=faoas IUa<
of mind is based on a confusion
Pt T TR
(A) Mental description and (A) THfas fagersor efor urey
disposition
(B) Mind and brain (B) = s gt
(C) Mental and physical properties (C) wMfFsw oo SiReR EUTHTf
(D) i:oilecriilesand psychological D) s s e e
98. According to C.S. Pierce, truth is : | 98. ¥t. wa. fusw=n #aa 9= & "
(A) the ideal limit of knowledge R,
(B) the ultimate goal of knowledge (A) JEET AR FHRET
(C) the expedient in the way of (B) NN 3iftw £
thinking .
(D) the logical requirement of (€) foramreter T g
enquiry (D) fSar&=i afee S
99. The distinction between actual and | 99. dTEd MV A FHR ATchiel A HIvit
probable verification was upheld Hifitden e ?
by :
(A) Schlick (B) Ayer (&) et (B) W=
(C) Carnap (D) Wittgenstein (C) =g (D) fag e
100. ‘Incomplete symbols’ of Russell are | 100. THere  27qvi fceh’ Jeicuen shemet gal
those which fulfil the following : FHLAE ?
(A) their contribution to meaning (A) g sreffasas aem e
did not consist in denotation ST T
(B) their contribution to meaning (B) @iy sreifomes drmed fPm
consists in denotation ST ST
(C) they are used as names . - -
(C) 9=l IR AHMERET hedl Sl
(D) they are not susceptible of e . .
analysis (D) ™= TIRYUT hI00 TR THd
31 [P.T.O.
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ROUGH WORK
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